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No. of Questions : 60
gg_l @t HEAT : 60

Time : 1 Hour Full Marks : 180

g9g ;1 °e goife @ 180

Note: Each question carries 3 marks. One mark will be deducted for each

incorrect answer.

TE us O SiE @ B geie T gu] g U@ S BT
FIaT |

(1]

(2)

(3)

Each question is followed by FOUR alternative answers. Only
ONE of these answers is correct, Select the correct answer andl
indicate it in the appropriate circle on OMR Answer Shect

provided, by darkening the circle, using Ball Point Pen.

UEE 0¥ % =K TReqEh 347 B84 T # | Z9H A Aol T T
Al ¥ | e I g a3y fafy W@ FEww= & andre T o
e Ggee U9 Y el Fih R B |

Attempt all questions from SL No. 1 to 40.

H9 TEAT 1 & 40 aF G UgH B BN § )

Out of three parts of questions on languages (Parts-I, 41 to 50
Hindi, Part-II, 51 to 60 Sanskrit and Part-III, 61 to 70 Enghsh).
attempt only twe parts. Thus, a candidate is required to answer
in all 60 (Sixty] questions only.

d @ust § wwsH % use (@vs- I, 41 § 50 B, @ve- 1,
51 § 60 @pa aul @Us- I, 61 @ 70 {U=it) # & fF=i &
Gl F 0% & g FA 21 39 TR TUaEl HOFE 60 9w
% 3¢ e B

3 P.T.O.
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01.

02.

03.

Ramesh starts his scrvice at a certain salary level and gels an
increment cvery year. His salary was ¥ 1500 after 4 years and T 1800

atter 10 years of service. What was his starting salary ?

THY AU Fiwd o FiEE ¥ 0 g s B g afved
da9-gfE are =var B aw g a© 39 399 11500 =7 a7 10 99
9= ' ¥ 1800 B ST & | 39T URENEH da9 =7 &7 ?

(1) 1450 , (2} ¥ 1250

(3] ¥ 1330 4) % 1650

All the page numbers from a book were added, beginning from
page 1. However, one page number was mistakely added twice. The
sum obtained was 1000. Which page number was added twice ?

T J&Ie & Ul il GEAT, UE # R T Sl N | e § Uh g
B W A AT A 41 g | w99 B A 1000 o7 | e e
F Ytz bl 21 AR SN T Ay ¢

(1) 44 (2) 45

(3) 10 (4} 12

it code of DELHI is MIPLM, then QEHVEN would be coded as

q% DELHI %l % MIPLM 8, @ QEHVEN & 68 J%I7 §eda
fepar a7
(1) MUMBAI (2) MADRAS

(3) NAGPUR (4] JAIPUR



04.

05.

06.

RET/17/TEST-A/03

Missing number (?) in the following table 1s :

FrAfafiag arfeem § e (?) den B 7
212
171121 8
231 7 |38

(1 25 (2) 27

(3) 32 (4) 30

Most of the students of a class are intelligent. Which of the following
follows from the above ?

(1) There are some students who are not intelligent.

{2) There is no student who is not intelligent.

(3] Al students are intelligent.

(4] Some of the students are intelligent.

‘o & arfersbier faemelt ghemm ¥ 0 frefefaa ® @ & 55 w9
F1 AT HIEAT & ?

(1) w5 8 faodt 8 7 ghemm 7€ 2

(2) HE tay Faed ad ¥ S gfeae T e

(3) At faemedt giame )

(4) FB el gheam &)

There are five houses PBTDC in a row. P is right side of B and left side of
T.C is right side of P. B is right of D. Which of the house is in middle ?

79 97 PBTDC U dfaer # €1 P, B & aifegsit 1 aen T & 9rdf ofiw
%t?C,P%aT%:ﬁaﬂT%lB,D%mfﬁ‘rﬁah%wﬁ:[:rmmamﬁ

(1] B (2} P 3) T (4] D

P.T.O.
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07. One train starts from station A at 5:00 p.m. and reaches the station I3

09,

at 5:00 p.m. Another train starts from station B at 6.00 O p.m. and
reaches station A at 6:30 p.m. The two trains will cross each other

dl

U T W A § 5:00 p.m. 97 G@dl B @ B9 B U 6:00
p.m. 9 YEFdr ¥ 1 gE gl R B # 6:00 p.m. 9V Herdl B
AT YT A 9T 6:30 p.m. 9% qg"a‘ﬁ‘r A | Z1 Wlféff EGEICE <F
SHT Bl Y RO 7

11} 5:56 p.m. (2] 5:48 p.m.

(3) 5:42 p.m. (4 5:36 p.m.

Which one of the following numbers is like the given numbers

Meidieg @egre # #la o mE nd Hemsdl 8 oauig
235, 275,385

(1 263 (2) 165

(3] 835 (4) 683

While boarding an acroplane a passenger gol hurt. The pilot showing
prompiness and concern made arrangements to hospitalise the injured
and so the plane started late by 30 minutes. To reach the destination
1500 km away in time, the pilot increased the speed by 100 km/

hour. Find the original speed/(km/hour] of the plane.

{11 100 kni/hour (2} 600 km/hour
(3) 300 km/hour (4} 700 km/hour



10,

1.

RET/17/TEST-A/03

gare el H Hed @69 Ok gl gEd et o @ | EEE e e |
qerdl R g awe At B gl A o SH e #
e & faae 30 fiFe 36 & Sem WY umEn | Tiae (HSE) @i
1500 fprfte U¥ ggam & forw afy fmm = gars StersT & TR
100 FERHito sg92T ST & af gars S8 # araras e (R saveT)
ST I |

(1) 400 fFdto rauer (2] 600 fpHto sa7eT

(3) 500 [&HTo sHver (4] 700 T sATET

Which term comes next in the series : YEB, WED, UHG, SKI, ........... ?
goff YEB, WED, UHG, SKI, ........... g 37T 9T S| 3T ¢

(1} TOL (2) SKI

(3) SLH 4] QOL

A girl is facing North. She returns 180 in the anti-clockwise direction

and then 225%n the clockwise direction. Which direction is she facing

now ?
(1} West (2) North-East
(3] South-West (4} East

T gl IwT A B TE e e @di B g8 180° udl H §s
g9 &1 Ren & RAodia gl @ acesnd 2250 941 % gE o
am & g9 oIl 8 36 SR ge Ha {6y e F ' Hvw wd ¥ 7

(1) 9i9=H (2) IW-TE
(31 zfEor-gises (4) 94

7 P.T.0,
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12,

13.

14,

The total cost price of two items is ¥10,200/- and their selling price
are equal. If one of two items is sold at a loss of 12% and another is
sold at the loss of 18%, then the cost price of the item which is sold at

the loss of 18% ig ?

& FEGSAT %1 #d T T 10,200 & T a9 H & geg avEn 2|
qf G A @ ueh 129% eI 93 S| T a7 g9 18% i 9 J9
T At 18% B 9T O T A% @ hd qed R 7

(1) % 4,920 (2] ¥ 5,820

(3] ¥5,280 (4] T 4,290

If today is Thursday, then what will be the day on 363" day 7
(1)  Monday (2) Tuesday

(3] Wednesday (4) Thursday

M1 gewdfaary ¢, af 363d f&d shi-d1 fgq & 7

(1) dmEm (2) A

@) g @) geertar

The average of values :

0,2,4,6,8,10,....... 2n is.

e wemadl & sud 2

. 24 BBy DOy s Dayies

(1) n (2) n+1 (3] 2n (4) 2(n+1)



15.

16.

b
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2 3 6 18 _
£ ~—=2and o e =9 then the value of x and y, respectively, are :
(1} 3and?2 (2) 2and3
(3) 4and3 (4) 3and 4

LA 6 18
afg —+-=2 qen ;*?4‘, ar x TT y I A HHLA: B
(1} 3 aam2 (2) 2T 3
(3} 49913 (4) 3TAT4

Ifp™p" + 1) = p (p™ + p¥), then the value of x is equal to :

g p™(p? + 1) = p(p* + pY, @ x &HT TF FTIEL BN ¢

(L] =1 (2) *p (3) O 4) 1/p

A contractor undertook to do a certain work in 75 days and employed

60 men to do it. After 25 days he found that only 1/4" of the work
was done. How many more men must be employed in order that the

work be finished in time -

u e UF & w75 & F g H @ Pt Tar 21 39 60
=feFral @l rd 9T @mEr | 25 B FrE 8 & =w ge e T 5
FTF H 1/4 A IA I’ 2| g8 R e AfRdl @ @ g
Fd gHI 9T G0 FHA G |

(1} 34 (2) 38 (3) 35 4) 30

9 P.T.O.
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18.

19,

20.

Eighteen years ago, Arjun was three times as old as his son. But now

he is only twice as old now. What is Arjun's age today ?

(1} 36 years (2) 54 years

(3] 72 years (4) 45 years

18 g qdf oTofe &t Sy ot GH F 3| N AT AT &A1 1 qfehT Al
gz & T 21 A @ ang adHE § #4787

(1) 36 a9 (2) 54 a4

(3) 72 ad (4) 45 @d

The limit of the product

i

g = L
3595 85, o AIS s

Fret | o @l dmn

(1) 5 (2) (og,s
8) & 4 5

The number of ways in which S different books can be distributed
among 10 peoples if each person can get any number of books is :

5 STT-SIENT JXAeht &1 10 Al & = aier siran 8 a B T
F "ier o | & e gde st @ R ot JEn i gEad mr
Bieft & ¢

(1) 252 (2) 10°

(3} 510 (4) 10P,

10
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22,
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Which gas is safe and effective in extinguisher for all confined fire ?
(1) Nitrogen dioxide (2) Carbon dioxide

(3) Sulphur dioxide (4) Nitrous Oxide

dif e g § Pe-d e griEd ug g g g 7

(1) A2l STRelEEs (2) FHEq TEIATFIRES
(3) TTHT SETFAES (4) AEZH HAFARES
"Swaraj" as a national demand was first made by :

(1) Bal Gangadhar Tilak (2) Dadabhai Naoroji
(3) Jawaharlal Nehru (4) Chitranjan Das
T USAE A F w9 H gsell gy @ T

(1) a1 e [Os gmn (2) aETYE AR
(3) SHERIAR HEE & (4) M 39 &1

23. The distance of marathon race is :

(1) 24 miles 385 yard (2) 25 miles 385 vard
(3] 26 miles 385 yard (4) 28 miles 385 yard
qgd g1 @l gl e g

(1) 24 HieT 385 97 (2) 25 ¥ 385 T

(3) 26 HieT 385 Tor (4) 28 HiaT 385 57

11 P.T.0.
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24. Who first talked about the economic drain in India during the British

25.

26.

rule ?
(1) Dadabhai Naorojt (2) Gapal Krishna Gokhle
(3) Bal Gangadhar Tilak (4) Mahatma Gandhi

ST & 9ITET e F A $ anfeles et e aduyH e
i ?

(1) ZEEE ars | (2) TOTE HOT rEe o
(3) amer eT fAes A (4) HeTdT T A

Who nominates the chairman of the Public Accounts Committee of

Indian Parliament ?
(1} Speaker of Lok Sabha (2) Prime Minister

(3) President (4) Chairman of Rajva Sabha

Wg Hus $ i A |afy 3 orems @ @i "G Bl 87
(1) SBA & FAeAE

(2) FEHT

(3) YT

(4) T @ & FHYE

Which of the following states in India had the lowest child sex ratio
(0-6 years), as per 2011 census ?
(1) Punjab (2) Haryana

(3) Rajasthan (4) Uttarakhand

12



27.

28.

29,
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g9 2011 T FAFOFEN & HAJHR, WRA & fhg aoF 7 fargg fei
STIM (0-6 g4) AT o ¢

(1) o= (2) R

(3) TR (4) IEAET

Which Sultan transfermed his capital from Delhi to Daultabad ?
(1) Mubarak Shah (2) Muhammad Bin-Tughlaq
(3) Ghiyasuddin Tughlaq (4) Figoz Shah Tughlaqg

fFe g | STUET Tt I Resdl § QiedrEE Bl G
ferar e ?

(1) YaRE 9N (2) e T fE -
(3) THYEEN IEE (4) Thdsiene qireen
The popular TV serial 'Neem Ka Ped' was written by :

(I] Rahi Masoom Raza (2) Sharad Joshi

|13} Harivansh Rai Bachchan (4)  Munshi Premchand
dlebfra 2/ Higa i & Y= fen T

(1) ¥reEr A/gd T BRI (2) TE FAL]T B

(3) efvder v F=a9 B (4) Heft owE= &

The Vivekananda Rock Memorial is situated at which of the following

places ?
1) Kolkata (2] Mumbai
(3] Kanvakumari (4) Puducherry

13 P.T.0.
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30.

31.

32.

fadepTe e SHIRge, Fr=fafaa sel § |, w8 =g 2o

(1) ISR o (2) y=ig H

(3) FHATHATT H (4) gzad H

The first Indian woman to get an Olympic medal is :

(1) P.T. Usha [2) Usha Sachdev

(3) Karnam Malleswari (4) Ashwani Nachappa

SAegE yag g del Ugdl AT Jfedr 8

(1) 9.4, 97 (2) U HEsd

(3] FHHAH Hewgad (4)  STgat SqTE
Which is most common language used in web designmng ?
[k € (2) C++

(3] MATLAB (4) HTML

da fewef & fpg wieT &0 W f&ar S 2 7

(1) i (2) Hi++

(3) W (4) ug. E. oH. U
What is used to make computer chips ?

(1} Copper (2) Steel

(3) Sillcon (4) Iron

14



33.

34.

35.
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Frgey faeg @A 7 fhes gan g ® 7
(1) =T (2) ¥
(3) Taferer (4) HAETH

Which among following is an image file extension ?

(1) .gif (2) .docx
(3) .ppt (4) .lib
zoH A A, ST BIEA FH UFAIGH T 7
1y Fw 2) =T
(3) dE 4) o=

What is the best way to protect your hard drive data ?

(1) Scanning (2) Backup

(31 Defragmentation (4) Delete junk

A9F &l€ gied SET Fl FHIed HT @ AT =S IR 0 2
(1) T (2) aHaIY

(3) femweeH 4) feelie sim

A desktop computer is also known as ?
(1} Palm Pilot [2]. PG

{(3) Laptop (4) Mainframe

U SEhHEN YT &1 A 9 9 | S ST € 7

(1) 9™ 9EF&d (2) orH
(3} w7 (4) HTRT
15

P.T.O.
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36. .mpg is an [ile extension of which type of files ?
(1) Image (2] Audio and Video
(3} GPS (4) Flash

TS [ YenT @l BT T UF BT UFEIeET B 7

(1) &35 (2) orfedr afw difz=n
(3) STHITH (4) I
37. Digital Signature is based on ... technology.
(1) Crypotgraphy (2) WiFi
(3) Fiber Optics (4) Cloud
feforea same™ ...o.eees s s drEnfeht 9y srEnfva ®
(1) e (2) EER
(3) BRIy AT (4) =FAT3S

38 Which of the following is not a domain type ?

Y Lorg (2) .edu
(3} .com (4) .pen
=1 1§ & B o S Ui e g7

(1) .3r (2) T3
(3) (4) 09

39. In which of the following form, data is stored in computer ?
{1} Decimal (2) Binary
(3} lcxa Decimal (4) Octal

16
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Fre f & fad g o, wed § e gudE fEman sian # v

(1) SHHa _ (2) ATEAL
(3) BEFAT AN (4) 3t

What is the role of SMPS in a Desktop computer ?
(1) To speed-up the processing of calculations in the compuler.

(2) To provide power supply to Motherboard and peripherals in the
computer.

{(3) To create the sound of the computer.
(4) To create the picture and send it to Monitor in the compuite

3WReT Fger ¥ oq.Un.dLug. B qiEen a1 B 7

(1} &Hga7 7 R §) TEEROT # J9i e & o)

(2) FHET § AEErS a7 uiveTe & g el angfd yas e
(3) FHZT & AEST S B A |

(4) wmgee 3 moawE @ oo el difver o Aot @ dao

17 P.T.O.
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PART - I
CLESD
HINDI

et

v S PR AT A wive & TrESEr a9m =Jed o 7
Sl (2) H¥pe
(2 3R (4) fa=d

£, PR e St 7 HE TEw :y_?i:_lq-'ﬁ T Hy d fe=al | o
P o ?
(1) BT AR (2) AT AE

cot FETE S (4 H7eE HIZ

TESE AT TR w3 e me-Taas iRl &Y
QIR TR R A Y PINEETIEY

SHTEFT ML AR (4) T HTEYRL g

A S B Bt ol 8 0 e iR B s
VT () =y

i (1) 23Tl

o B g wile g
oA 'I'rl.-_fﬂ--';':r-'!_' ety I VEOER idd B :L [;
IEEILS (2) TS A%

A RRTICEN IEALS (4 Hirs Hae S

18



46.

47,

48.

49,

S0

‘U G FE BN U, R 3T S Any A - it o

(1) gerdEmE (2y He=md

(3) Y= (4) Wi

kL) = IS

SIS F TF g o G a4 o
(1) e {5y At
(3) TTAYEIA]

Tl & SEia-l e v S veqoan
(1) HIH

5 '51 =R 1R T = .I

EATAS, =55 i &, :__{,. e o

(1] 3ATfE=Ri= 5t

L] e —-———r—
(3} V=Rt . WETERE)

19

RET 7Ty
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PART - 11
@ug - 11
SANSKRIT

Hchd

S1. A9 ergwTEf-
Ly TEEL ThiST: (2) gEIFHI

W3y AT (4] WideHl: T

S qRRATgE Od el a9 3od’ AF C9eRd’ ueed 9 il
T‘;_[:?_—I :

L) ATy (2] anfamy

(ol itk (4} wEgaTen

S T eTietg G g HIgAR el gE sl
BRI
SEERECTE (2) FIFEITHT FoTiee] ¢

(3] TEFFAATTOH (4) FTATET: ST

51 CHQE 2 FAYL fqure: &1 -
) A Hed (2) HYR g

(3} HEreTt ' (4 HAl Hey

20
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56.

57.

S8.

59.

RET/17/TEST-A/03

(1) 9FFTasde

(3) FEEE

(2) FEETIEE
(4) AHIEET

afearaemar w3 e gre At ?

(1) HidaeE

(3) FHoTITARE

e Hiwld dsfi-iierEr 99id 7

(1) BT

(3) 32

Ul 2o9E HWivuied

V1) e

13} i

(2) YFTIAGEET
(4) sTerddEey

(2) 3remrd;
(4} SgHT

(2) aTaTafeer:

(4) Ererefern

‘O’ s gAETaeR: Udhdeas maiE-

(1) TeI

(3) gd+

21

(2) 9fe=T
(4) qqd

P.T.0.
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60. “HETHl A el fewg favafenera it e #v sty amma dwed
e HAgaE: Wi
(1) "em=n: Hiell favg fasafaenem: wenfoa:
(2) EmE=A el ey favafanad wnfis:
(3) "erms: @1eft femg faeafaeneas: Tenfaan
i4) "eHEET Fielt fovg FHoafEEmes: wEnfge:

22
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PART - 11
ENGLISH

Note : [dentify the part of the sentence having an error in it :

€1. A vast numbers(l)/ of people greeted (2)/ the artist on his arrival |

al the airport(4).

Note : Identify the synonyms from the four alicrnatives given below
62. Esoteric
(1} 1rregular (2) mysterious

(3] composite (4] tremendous
Note : Identily the antonyms {rom the four alternatives given below

63. Meticulous
(1] careiess (2) particular

(3)  calculated (4) planned

Note : Sclect the word that can he substituted for the given words/ phros-

il

64. The art of beautiful handwriting :
(1) paleography (2) draftsmanship

(3} calligraphy (4} philology

23 P.T.0.



RET/17/TEST-A/O03

seter Choose the correctly spelt word from the given options !
fv. i} symetrical (2}  symmatrical

svmetrical (4] symmetricel

aate: Choose the correct preposition from the given options |

&%. Your story, though interesting, is devoid ............ truth.
1 from (2] through
12 I : {4] of

“ate: Choose the most appropriate word for the blanks

The lawyer was threatened ............ dire consequences,
20 S (2) with
{31 by (4} from

irier weurrange the following jumbled phrases to make a meaningful and
correct sentence. The first and last parts of the sentcnces are marked
s A and B e

T

‘A)  There is a continuous demand

. e tormed to train humanity

() for destructive purposes and world organizations
Ty in the art of setthng their disputes

i) lo ban the application of science

(Ft by peaceful negotiations.

1) ECBD (2) EBCD
{3) DECB (4) CEBD

24
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Note: Supply the most suitable form of tense of the sentence :

O9: Fusually coas sugar in my tea.
(1) have not taken (2] will not take
(3) do not take (4) did not take

Note : Choose the correct indirect speech from the alternatives given below :

70. The teacher said, 'Raju, I shall give you a book".
(1) The teacher said to Raju that he should give him a book.
(2] The teacher told Raju that he will give him a book.
(3} The teacher told Raju that he would give him a book

\*})  The teacher said Raju that he would give him a book

25 3000
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ROUGH WORK

T &Y

26






i & fern fdw
(59 YfAaT & T99 3MET0T g 47 797 I97-07 & gt ge) v
Faet Aelt-FTEAl aeT- @Ee 47 @ § )

Lo e qfe e & 3o firde % st & Sa o v A it 9w e s v
§7 B2 6 &1 TR S W S T S g e - T F e
TR F gl e W a )

2. Tlmﬁ U499 U forerer mfEd 4391-0F & aifdfias, fomar 91 97 B o Al HGH A

5 = A
I -5 e 4 g w1 39 T @ wig s 7 & fagw &1 gEv - w78 faw
FIT FUT-UF HT 71 Geaia fHar wrEdm

R ST A4 WA 1 HAlR FUH HWET-YS W9 fifia w0 s
3 IT7-0F & wew guF qv 47 @ I HEFWE [ @A o7 foe agr 9w e 5
e =T 31 wrEl-wgt anavaw 3 agl TvA- QfEET & #9E A9 92 1 v@y e wnd
o ..;ﬂf'
wlv RGe HITo GF T @IS HEHI, TVAYITIRT ST § WZ T8 4T &iF 5 A4
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